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SECTION A (Answer ALL Questions) 

Question 1 

(a)    Sanah made the following disposals in the tax year 2017/18: 

(i) On 9 July 2017 she sold an antique item for £13,000.  She had bought it in 
October 1993 for £8,000.   

(ii) On 5 September 2017 she sold a painting at an auction. The painting cost 
£7,500 in November 1994 and the sale proceeds received were £5,800 from 
which Sanah had to pay £60 auctioneer’s fees. 

(iii) On 16 November 2017 she sold a car, which she had bought in February 1989 
for £3,000.  By the time she sold it, it had become a collector’s item and Sanah 
managed to obtain proceeds of £9,000, out of which she paid £450 in 
auctioneer’s fees. 

(iv) On 5 December 2017 she sold part of her interest in a piece of investment land 
for £30,000. The original land cost £10,000 in August 1992.  The market value 
of the remaining land at the date of sale was £40,000. 

(v)  On 1 March 2018 she sold her principal private residence realising a gain of 
£50,000.  The residence was acquired in 2008 and has been used throughout 
her period of ownership 20% for business purposes.   

Sanah has capital losses brought forward from the tax year 2016/17 of £1,220. 

Sanah has taxable income of £24,225 in the tax year 2017/18. 

Required: 

Calculate Sanah’s capital gains tax payable for the tax year 2017/18 and state 
the due date for payment. (18 marks) 

 

(b)  Martin Smith sold 1,260 shares at £6 each in Iron plc on 15 February 2018. 

 

 

 

 

Question 1 continued over the page 
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Question 1 continued 

 

 Prior to the sale of shares the following transactions had taken place: 

 

Date No. of Shares Cost (£) 

21 July 1986 800 960 

23 May 1993 1200 1440 

16 February 1999 1600 2400 

14 May 2009 400 800 

 

In July 2016, the company made a 1 for 20 rights issue at £3.00 per share and Martin 

took up this offer of these shares. 

Assume that no further shares were acquired within the following 30 days. 

Required: 

Calculate Martin’s chargeable gain only. (7 marks) 

(c)    

Required: 

Critically evaluate the conditions which must be satisfied if a taxpayer wants to 

use Entrepreneur’s Relief (ER) and the benefits of using ER.  (5 marks) 

(Total: 30 marks)  

 

 

 

 

 

 

PLEASE TURN THE PAGE 
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Question 2  

(a) You are provided with the following information relating to Octopus for the quarter 
ended 31 December 2017: 

(1) The VAT exclusive management accounts: 

 £       £       
Sales  36,500 
Sales returns  (1,100) 
  –––––– 
  35,400 
Purchases (Note 4) 9,600  
Purchases returns (300)  
 –––––  
 9,300  
Impaired debts written off (Note 5) 1,500  
Other expenses (Note 6) 5,400  
 ––––– (16,200) 
  –––––– 
Profit  19,200 
  –––––– 

(2) The sales and other expenses are all standard rated for VAT. 

(3) The sales and purchases returns are all evidenced by credit notes issued and 
received. 

(4) The purchases are all standard rated. Included in purchases are goods which 
were taken out of the business by Octopus for private purposes. The goods 
cost £480 but would cost £500 (VAT inclusive) to replace. 

(5) The impaired debts were written off in December 2017.  Payment for the 
original standard rated sales was due on 30 September 2017. 

(6) Included in the other expenses figure is £2,000 for the cost of both business 
and private petrol and £3,000 for repairs for Octopus’s car which had CO2 
emissions of 200 g/km.  The quarterly car fuel scale charge (VAT inclusive) is 
£422. 

(7) A sales invoice for £3,000 excluding VAT had been omitted in error from the 
VAT return for the quarter to 30 September 2017. 

(8) During the quarter ended 31 December 2017 Octopus purchased a car for 
£15,000, which is used by his sales manager for private and business use and 
a machine for £20,000. All figures are VAT inclusive. 

 

Question 2 continued over the page 
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Question 2 continued 

Required: 

(a) Complete the VAT return for the three-month period ended 31 December 2017, 

showing how much VAT is payable. State when the VAT is payable to HMRC. 

           (20 marks) 

(b) Critically evaluate what the cash accounting scheme for VAT is and the 

conditions which must be satisfied to use the scheme    (6 marks) 

(c) Critically evaluate what “non-deductible input tax” means and give examples  

(4 marks) 

   

   

    

          (Total: 30 marks)  

 

END OF SECTION A 
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SECTION B: TWO Questions ONLY to be attempted  

 

Question 3  

(a) Farhan Khan died on 12 July 2017, leaving an estate valued at £865,000.  None 

of the transfers below made on his death were exempt from IHT.  Farhan made 

the following transfers during his lifetime: 

           £ 

02 June 2009 Gift to relevant property trust (tax paid by Farhan)  105,000 

1 May 2010 Gift to daughter        175,000 

5 August 2010 Gift to son       245,000 

11 November 2011 Gift to relevant property trust (tax paid by trustees) 445,000 

Farhan was not married or in a civil partnership and was single at the time of his 

death. 

His entire estate was left to his children. 

Farhan’s funeral expenses were £3,500. 

Required: 

Calculate the inheritance tax payable as a result of Farhan’s death.     (15 

marks) 

(b) Evaluate the circumstances in which a taxpayer can use Business Property 

Relief (BPR) and the tax benefit of using BPR.   (5 marks) 

          (Total: 20 marks) 

 

 

PLEASE TURN THE PAGE 
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Question 4  

(a) Consortia 

 The ordinary share capital of Peter Ltd (a trading company) is owned 31% by Quinn 

Ltd, 34% by Ryan Ltd and 22% by Sam Ltd.  The remaining 13% is owned by various 

individuals, none of whom own more than 1%.  All companies are UK resident and 

prepare accounts to 31 December.  The results for the 31 December 2017 are as 

follows: 

 

 Peter Ltd Quinn Ltd Ryan Ltd Sam Ltd 

Trading 
profit/(loss) 

(95,000) 40,000 37,000 10,000 

Chargeable 
gains 

- 14,000 - - 

Property 
Income 

11,000 5,000 10,000 3,000 

 

Required: 

Compute the maximum possible group consortia relief claims and explain briefly 

how group relief is different from group consortia relief                 (12 marks) 

(b) Eric Ltd has taxable total profits of £900,000 for the year ended 31 March 2018 

and receives no dividends.  Eric Ltd owns 70% of the ordinary shares of Fiona 

Ltd and 25% of the ordinary shares of Garry Ltd.  

Required: 

Calculate the corporation tax liability of Eric Ltd for the year to 31 March 2018 and 

state the dates on which tax is due to be paid ( you should assume the company 

was “large” for corporation tax payment purposes in the prior year)  (8 marks) 

 

(Total: 20 marks) 

 

PLEASE TURN THE PAGE 
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Question 5 

(a) Wood Ltd disposed of the following chargeable assets in the year ended 31 

March 2017: 

 

(i) In February 2018 a vintage car for £245,000 which had been used by the 

managing director and originally purchased in January 2009 for £189,000. 

(ii) In October 2017 the company sold its office building for £515,000.  The 

building had been acquired in January 1979 for £103,000 and was extended 

in September 2000 for £55,000.  The market value of the building at 31st 

March 1982 was £128,000. 

(iii) In August 2017 the company sold gilt edged securities for £97,000 which 

were originally bought in January 2008 for £67,000. 

Wood Ltd had capital losses b/f of £2,150 and also capital losses in the current year 

from other chargeable disposals of £5,000. 

Required: 

Calculate the chargeable gain or allowable loss on each of the disposals and then 

the overall chargeable gain or loss which should be included in the total profits 

for the year ended 31 March 2018. (Ignore Indexation Allowance in your 

calculation) 

           (10 marks) 

(b) Explain the purpose of Indexation Allowance and how this is beneficial to 

companies          (3 marks) 

 

(c) Critically evaluate the benefits and drawbacks of trading as a sole trader or 

Ltd company.  Use examples to illustrate your answer.    

          (7 marks) 

(Total: 20 marks) 

END OF QUESTIONS 
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